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Note:  Write answers to the questions on the objective answer sheet provided. Four possible answers are given. Which

answer you consider correct fill the corresponding circle A,B,C or D in front of each question with marker or ink
on the answer sheet provided.
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1.1 The unit of energy is: i MEH 141
(A) Newton ¢  (B) Meter X (C) Joule Jz (D) Second )
2. Energy possessed by a body due to its position is called: g Gitzre oSl g 2
(A)  Kinetic energy G 0¢ (B)  Chemical energy GAE
(C)  Potential energy gy (D)  Heat energy ' EAdaz
3. The radiations produced du;ing nuclear reaction: -wénbjl.;‘-ﬁ'ujbzuwédf e 3
(A) o -rays - (B) B-rays w-B () y-rays w-y (D) Allof these (17,
4. The device used for turning a circuit ON or OFF is: et I 4
(A) Switch £+  (B) Fuse #  (C) Eathwire /2s (D) Multimeter ¢
5. Conventional current is a flow of: eSS, P s
(A)  Negative charges Kz/g&" / {ﬁé (B)  Positive charges ¥z dprtil
(C)  Electrons g5 0 (D)  BetaParticles (B AL
6. The number of coils in transformer are: eI SSTIL n2 6
(A) One £ (B) Two 2 (C) Three & (D) Four P
7. Values of different resistors are expressed in the form of : el AP ‘f‘-? i praci -7
(A) Coloured Bands istsfs (B) Digits < (C) Diagram J# (D) Points =6
8. InP-type semi-conductor, most of the current is due to Ak S By 8
(A) free electrons 3526, (B) hole Jn  (C) Positiveions #Toksy (D) Atoms = 4
9. In periodic table, silicon is found in the group number: -e-blld u:_'.,f g LFEA L s gL -9
@A) 3 o’ ® 2™ orn (C) 4" &z (D)S° N7
10. A list of instructions in a computer for particular task: O, .-,_L_uzk_?ﬁftad( Lred 10
(A) World processing  _Ex1z3» (B) Graphics  *1/ (C) Programme 1/, (D) Data &
11. The principle of light on which the fiber optics works is: e 3/t s uu“*T P ¥
(A)  Reflection 2, (B) Refraction PR
(C©)  Total internal Reflection  ¥5fpfs ()  Dispersion Pt
12. The signals given to radar are in the form of: .;._t'@p,_ﬂfd":ﬁrsu 12
(A) Laser .7  (B) x-rays zu (C) Microwaves sgnfL (D) Sound waves  Jjgikil
13. Optica! fibers are fine strands of: et Zi T 13
(A) Steel ZJ (B) Iron Lo (C) Glass Zyf (D) Metals Lyt
14. SUPARCO came into being in: dnfGotil  -14
) 1956 (B) 1961 © 1973 D) 1990
15. Space travel became possible due to the invention: .i.vcha' 76115;.44? Aghs 215
(A) Missile  Jiz (B) Acroplane  jgdix  (C) Rocket /i, (D) Helicopter 1
ﬁ 37-10-A*
Y. (a)  Write the importance of artificial satellites.
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Time: 2:

2. Attempt any six parts of the question.

(1)
(i1)
(iii)
(iv)
v)
(vi)
(vii)
(viii)
(ix)

3. Attempt any six parts of the question.

(1)
(i)
(1ii)
(iv)
v)
(vi)
(vii)
(viii)

(ix)

4. Attempt any six parts of the question.

)
(i)
(iii)
(iv)
v)
(vi)
(vii)
(viii)

(ix)

Note:
5. (a

(b)
6. (a)
(b)
7. (a)
(b)
8. (a)
(b)
9, (a)

% (b)

16 Hours
Section - 1
(2x6=12)
What can you say about resistance?
Where are the gang capacitors used?
What does a step-up transformer do?
What is the law of conservation of energy?
What is meant by wind power?
Define the unit of electrical energy.
What is meant by solar power?
What is the effect of thermal pollution on our environment?
Define chemical energy.
(2x6=12)
Define Electric current and write its Equation?
State ohm's Law?
Define Electric shock?
Write Name of input dévices?
What is Floppy disk?
What are semiconductors?
What are Hovering satellites?
How would you define internet?
What do you remember about communication system?

(2x6=12)
Define LASER. write the name of the first laser ever
used.
Write names of any two steps in Garment
manufacturing unit.
What do you know about spinning in textile industry?
What are Radio isotopes?
In which type of Surgery Argon Lasers are used?
What is Lithotropsy?
Differentiate Meteorology and climatology.
When Pakistan became the Atomic Power?
Write two objectives of SUPARCO.

Section - 11

Attempt any three questions from the following:

How would you define kinetic energy?
Describe it with an example.

What do you know about nuclear power and thermal power.

What is transformer? write a note on its two types.
What is voltmeter? Explain with diagram.
Explain the Radio system.

Write a comprehensive note on C. P. UL

What is the role of science and technology in our daily life?

Highlight the importance and uses of steel mill.

Write the importance of artificial satellites.
Where are the nuclear power plants of Pakistan
constructed? What is their total production
capacity?
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(1)
(i1)
(iii)
(v)
W
(vi)
(vii)
(viil)

(ix)

(i)
(i)
(ii1)
(iv)
V)
(vi)
(vii)
(viii)
(ix)
4.
)
(i)
(iii)
(iv)
v)
(vi)
(vii)
(viii)

(ix)
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Roll No/ ‘

to be filled in by the candidate |

General Science (Objective)

Time:20 Minutes
‘Write answers to the questions on the objective answer sheet provided. Four possible answers are givern. Which
answer you consider correct fill the corresponding circle A,B,C or D in front of each question with marker or ink

Note:

1.1

10.

115

12

13.

14.

15.

on the answer sheet provided.

LS B SAeBA I3 en L S Nz (YWY 22 % s DCBAMZE L ir s

Unit of energy is:

(A) Watt L (B) Joule Jz
In 1986 which system of Russian reactor was failed:
(A) Boiling &y (B) Melting L
Energy consumed in one second is called:

(A) Power ,,g (B) Joule Jz
Unit of potential difference is :

(A) Meter X (B) Kilowatt  win¥
Instrument giving reading with the help of pointer is:
(A) Digital meter RS B)
(C) Labmeter 3, ©

By storage of charges you can increase:

(A) Resistance N (B) Conventional current ah J’ i
(C)  Potential Sy (D)  Potential difference Sy
One milli ampere is equal to: WYy M
(A) 107A B) 10%A © 10°A O 10°A

How many electron guns are there in colour T.V: WAry L AF 60k
A) 2 ® 3 © 4 ™ 5

Compact Disk (CD) consist of : <=0 (CD)Lseld
(A) Carbon 4 (B) Copper 4¥ (C) Iron Y (D) Aluminum (4
It is called as Brain of computer: IR
(A) CPU B) VCR (C) CD () HD

Chlorine have Isotopes: A IS RIATL g
@ 1 B 2 © 3 D 4

Airport security use: s JL-HL;,(_‘;M.C.:J;;::
(A) X-Rays 5% (B) AlphaRays s (C) BetaRays ;& (D) GammaRays i
Optical fibers are fine strands of: Lk g5
(A) Plastic L. gy (B) Metal ZF (C) Glass Ly (D) Zinc L6
Pakistan carried out atomic explosion in: Ll ,J:u_up@
@) 1992 ®) 1994 © 199 ®) 1998
PINSTECH have research reactors: -‘aﬂﬂJ y 7 2+ o PINSTECH
(a) 2 ® 3 € 4 O 3

F\ 39-10-A*
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(C) Ohm fol

[PaperCode | 7 | 0 [ 9] 2 |

(2@ p-2—3

RSTI A
(D) Ampere 24
.Lmﬁ (h’/ U (}deu,ﬁéu %1986

(©) Cooling g/ (D) Heating _&-

AT NI

(C) Work % (D) Mass ed
RN A 1N
(C) Ampere =24 (D) Volt &lss
+JTU1:LI 6L s d’(jr
Analogue meter KL

yud

- élﬁku;l':_z.ﬂzr"‘ﬁ'}.’ Jk

mix meter

W Sz
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Time: 2:10 Hours Marks : 60 /2 W P'Q’ﬁg
Section - I Jilo
3. Attempt any six parts of the question. (2x6=12) -af‘)"/:zn {:.Jf
Describe the difference between work and energy. S LEANT
What is meant by "Nuclear Fission"? P BN B A LW
-#{-Q/J L(J’mf

{iii)
(iv)
v)
(vi)
(vii)
{viii)

(ix)

3. Attempt any six parts of the question.

)
)
(i)
(iv)
©
{vi)
{vii)
(viii)

(ix)

4. Attempt any six parts of the question.

)
i)
(iit)
{iv)
{¥)
{vi)
{vii}
{viii)
(ix}

MNote:

5. (a)
(b)

6. (a)

()
7. (a)
(b)

8. (a)
(b)

(®)

Define atmosphere.

Define power and also write its formula.

What is the method to produce Bio-gas from bio-mass?
Write down any two disadvantages of nuclear radiations.
Define electric current and write its formula.

What is dielectric?

What is meant by potential difference and also write its unit?
(2x6=12)

How would you differentiate live wire and neutral wire?
What actions would you take in emergency for administration of

'First Aid'? .

How would you define the conventional current?

What are semi-conductors? Write the name of any two.

What do you mean by Rectiﬁcétion?

What do you think about photodiode?

Differentiate between hardware and software?

What you mean by telecommunication?

Write any four names of information storage devices.

(2x6=12)

Why laser is called light knife?

How radar works? _

What do you know about alpha radiations?

Write two advantages of X-Rays.

Define pharmaceutical industry.

What is steel?

What do you know about space probes?

Write about Hubble telescope.

Why was Pakistan Welding Institute established?
Section - Ii

Attempt any three questions from the following:

What is meant by thermal pollution? Write its three causes

Describe the method to measure natural gas in detail and
mention a relation between Btu and Joule.

Write a note on dangers of electricity and aiso write its
any four precautionary measures.

State Ohm's law and also write its mathematical form.
Write explanatory note on Television.

Write note on Fax Machine and Telex Machine.
What is "RADAR"? How does it helps us?

Write any four advantages of ultra sound.

&

Write a brief note on the importance of space programine.
40-16-A

Describe space programme of Pakistan.

(8x3=24)
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®
(i)
(iii)
(iv)
)
i)
(vii)
(viii)

(ix)

0]
(ii)
(iii)
(iv)
v)
(vi)
{vii)
(viii) -

(ix)

@
(ii)
(iii)
(iv)
)
(vi)
(vii)
(viii)
(ix)
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